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1. Inside each box of Rice Krispies is a Lego figure, and there are six different figures available.  Eli really needs to get the Lloyd figure.  How many boxes does Eli's mom have to buy in order for Eli to get his wish?

2. Assuming Kellogg’s is not trying to horde any specific figure (we'll assume they are randomly distributed), we may simulate this situation by randomly generating six different options.

3. Assign each figure an integer from one to six.   (Let's say Lloyd is four.)

4. Using a die, simulate this situation by generating random integers from one to six.  When you get a four, circle it.
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5. On average, how many boxes did it take to get the Lloyd figure?
Hitting it BIG
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1. To win a certain lottery, a person must spell out the word big.  Sixty percent of the tickets contain the letter B, 30% contain the letter I and 10% contain the letter G.  Find the average number of tickets a person must buy to win the prize.  The order in which the letters appear does not matter.

2. To do this simulation, we will be using playing cards.  We will not need the entire deck, so your first step is to select one of each of the cards labeled 2-10 as well as an Ace.  (We will be counting the Ace as the number 1.)

3. Explain how you can use the ten cards to simulate a person playing the lottery.  How will you assign outcomes to the cards?  

4. Shuffle the cards VERY well and draw the first card.  Match the value on the card to your letter assignments and record the results.  Replace the card, shuffle, and repeat until you get one of each “letter”.  Keep drawing cards until you get all the letters then go to the next trial.  Repeat for 10 trials remembering to replace the selected card and shuffle the cards each time.  
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5. Based on your 10 trials, on average, how many tickets would you have to buy to spell the word BIG?

Roll, Die

Six students will be chosen to represent Alpharetta HS/Webb Bridge MS at a Fulton County Board of Education Meeting.  If we randomly pick from the population of students in grades 7-12, how long will it take to have one student representative from each grade?  (Let’s assume there are an equal number of students in each grade.)  Use a die to simulate this situation, and find the average number of tosses it takes for this to happen.  Use 10 trials.
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On average, how many rolls did it take to get one representative from each grade (or for all 6 faces to appear)?
